This is a tabulation of bid results not an offer of award or contract. The City reserves the right to reject all bids.

BID TABULATION PW 16-12 VINEYARD AVENUE STREET RESURFACING PROJECT Owner: City of Oxnard

Bid Opening: 11/27/18					Toro Enterprises, Inc.		All American Asphalt, Inc.		Granite Construction Company		Hardy & Harper, Inc.	
					2101 E. Ventura Blvd. Oxnard, CA 93036 #1		400 East Sixth Street Corona, CA 92879 #2		2151 Allesandro Drive Suite 209 Ventura, CA 93003 #3		1312 E. Warner Avenue Santa Ana, CA 92705 #4	
Item #	Item Description	Payment Code	Unit of Measure	Evaluation Quantity	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
1	Mobilization/Demobilization	1001-3	LS	1	\$88,000.00	\$88,000.00	\$90,082.50	\$90,082.50	\$150,000.00	\$150,000.00	\$60,000.00	\$60,000.00
2	Traffic Control And Public Convenience And Safety	1505-4	LS	1	\$206,000.00	\$206,000.00	\$80,000.00	\$80,000.00	\$158,000.00	\$158,000.00	\$232,000.00	\$232,000.00
3	Storm Water Pollution Prevention Plan	1800-3	LS	1	\$12,000.00	\$12,000.00	\$8,000.00	\$8,000.00	\$25,000.00	\$25,000.00	\$15,000.00	\$15,000.00
4	Cold Mill AC Pavement (3" Max.)	1110-3	SY	84,200	\$2.15	\$181,030.00	\$2.50	\$210,500.00	\$2.43	\$204,606.00	\$2.60	\$218,920.00
5	Unclassified Excavation	1120-4	CY	400	\$60.00	\$24,000.00	\$130.00	\$52,000.00	\$39.00	\$15,600.00	\$65.00	\$26,000.00
6	Class 2 Aggregate Base	1130-4	TN	250	\$35.00	\$8,750.00	\$55.00	\$13,750.00	\$68.90	\$17,225.00	\$65.00	\$16,250.00
7	Asphalt Concrete, Type III (DGAC-B2 PG 64- 10)	1150-10	TN	400	\$155.00	\$62,000.00	\$150.00	\$60,000.00	\$170.00	\$68,000.00	\$250.00	\$100,000.00
8	Asphalt Concrete, Type III (DGAC-C2 PG 64- 10)	1150-10	TN	250	\$141.00	\$35,250.00	\$160.00	\$40,000.00	\$196.00	\$49,000.00	\$231.00	\$57,750.00
9	Asphalt Rubber Aggregate Membrane (ARAM)	1151-4	SY	83,350	\$3.95	\$329,232.50	\$4.30	\$358,405.00	\$4.18	\$348,403.00	\$4.80	\$400,080.00
10	Asphalt Rubber Hot Mix (ARHM-GG-C PG 64-16)	1152-10	TN	9,500	\$109.00	\$1,035,500.00	\$107.00	\$1,016,500.00	\$118.00	\$1,121,000.00	\$117.00	\$1,111,500.00
11	Crack Seal	1155-4	LB	4,140	\$4.00	\$16,560.00	\$5.00	\$20,700.00	\$5.90	\$24,426.00	\$4.00	\$16,560.00
12	Slurry Seal Type II (RAP)	1160-5	SY	31,000	\$2.00	\$62,000.00	\$2.55	\$79,050.00	\$2.56	\$79,360.00	\$2.50	\$77,500.00
13	Remove And Replace PCC Industrial Driveway	1174-6	SF	1,600	\$15.00	\$24,000.00	\$17.00	\$27,200.00	\$19.00	\$30,400.00	\$50.00	\$80,000.00

			_									
14	Remove And Replace PCC Sidewalk	1174-6	SF	6,570	\$7.65	\$50,260.50	\$7.50	\$49,275.00	\$9.30	\$61,101.00	\$8.00	\$52,560.00
15	Remove And Replace PCC Curb And Gutter (Type A2-6)	1174-6	LF	1,200	\$55.00	\$66,000.00	\$52.00	\$62,400.00	\$45.00	\$54,000.00	\$75.00	\$90,000.00
16	Install 24" Root Barrier	1174-6	LF	200	\$45.00	\$9,000.00	\$35.00	\$7,000.00	\$26.00	\$5,200.00	\$50.00	\$10,000.00
17	Adjust Survey Monument Cover To Finished Grade	1185-4	EA	5	\$1,000.00	\$5,000.00	\$600.00	\$3,000.00	\$1,020.00	\$5,100.00	\$400.00	\$2,000.00
18	Adjust Manhole Cover To Finished Grade	1185-4	EA	31	\$700.00	\$21,700.00	\$900.00	\$27,900.00	\$1,310.00	\$40,610.00	\$1,000.00	\$31,000.00
19	Adjust Water Valve Cover to Finished Grade	1185-4	EA	51	\$760.00	\$38,760.00	\$500.00	\$25,500.00	\$985.00	\$50,235.00	\$1,000.00	\$51,000.00
20	Adjust Water Meter Cover To Finished Grade	1185-4	EA	3	\$600.00	\$1,800.00	\$500.00	\$1,500.00	\$1,100.00	\$3,300.00	\$1,000.00	\$3,000.00
21	Install "STOP" Pavement Marking (T)	1515-4	EA	9	\$115.00	\$1,035.00	\$200.00	\$1,800.00	\$121.00	\$1,089.00	\$116.00	\$1,044.00
22	Install "AHEAD" Pavement Marking (T)	1515-4	EA	2	\$172.00	\$344.00	\$200.00	\$400.00	\$181.00	\$362.00	\$175.00	\$350.00
23	Install "KEEP" Pavement Marking (T)	1515-4	EA	2	\$172.00	\$344.00	\$200.00	\$400.00	\$182.00	\$364.00	\$175.00	\$350.00
24	Install "CLEAR" Pavement Marking (T)	1515-4	EA	2	\$172.00	\$344.00	\$200.00	\$400.00	\$182.00	\$364.00	\$175.00	\$350.00
25	Install Bike Lane Symbol & Arrow Pavement Marking (T)	1515-4	EA	47	\$157.00	\$7,379.00	\$200.00	\$9,400.00	\$165.00	\$7,755.00	\$159.00	\$7,473.00
26	Install Bike Loop Detector Symbol (T)	1515-4	EA	10	\$78.00	\$780.00	\$100.00	\$1,000.00	\$82.50	\$825.00	\$80.00	\$800.00
27	Install Type IV Arrow Pavement Marking (T)	1515-4	EA	73	\$89.00	\$6,497.00	\$100.00	\$7,300.00	\$93.50	\$6,825.50	\$90.00	\$6,570.00
28	Install Type VI Arrow Pavement Marking (T)	1515-4	EA	7	\$100.00	\$700.00	\$100.00	\$700.00	\$104.50	\$731.50	\$100.00	\$700.00
29	Install Type VII Arrow Pavement Marking (T)	1515-4	EA	2	\$100.00	\$200.00	\$100.00	\$200.00	\$104.50	\$209.00	\$100.00	\$200.00
30	Install 6" Solid White (T)	1515-4	LF	2,500	\$0.68	\$1,700.00	\$0.70	\$1,750.00	\$0.70	\$1,750.00	\$0.70	\$1,750.00
31	Install 12" Solid White (T)	1515-4	LF	2,300	\$3.14	\$7,222.00	\$3.15	\$7,245.00	\$3.30	\$7,590.00	\$3.20	\$7,360.00
32	Install 12" Solid Yellow (T)	1515-4	LF	200	\$3.14	\$628.00	\$3.15	\$630.00	\$3.30	\$660.00	\$3.20	\$640.00
33	Install Detail 9 (T)	1515-4	LF	15,800	\$0.68	\$10,744.00	\$0.70	\$11,060.00		\$11,376.00	\$0.70	\$11,060.00
34	Install Detail 22 (T)	1515-4	LF	500	\$2.60	\$1,300.00	\$2.75	\$1,375.00	\$2.75	\$1,375.00	\$2.65	\$1,325.00
35	Install Detail 25A (T)	1515-4	LF	1,350	\$1.60	\$2,160.00	\$1.75	\$2,362.50	\$1.66	\$2,241.00	\$1.60	\$2,160.00

36			LF	3,300	1							I
	Install Detail 27 (T)	1515-4		3,300	\$2.60	\$8,580.00	\$2.75	\$9,075.00	\$2.75	\$9,075.00	\$2.65	\$8,745.00
37	Install Detail 27B (T)	1515-4	LF	2,000	\$1.05	\$2,100.00	\$1.25	\$2,500.00	\$1.10	\$2,200.00	\$1.00	\$2,000.00
38	Install Detail 38 (T)	1515-4	LF	6,400	\$1.15	\$7,360.00	\$1.25	\$8,000.00	\$1.20	\$7,680.00	\$1.20	\$7,680.00
39	Install Detail 39 (T)	1515-4	LF	35,700	\$0.68	\$24,276.00	\$0.70	\$24,990.00	\$0.72	\$25,704.00	\$0.70	\$24,990.00
40	Install Detail 39A (T)	1515-4	LF	6,000	\$0.68	\$4,080.00	\$0.70	\$4,200.00		\$4,320.00	\$0.70	\$4,200.00
41	Install Blue RPM	1515-4	EA	50	\$8.35	\$417.50	\$15.00	\$750.00	\$8.80		\$8.50	\$425.00
42	Paint Curb Red	1515-4	LF	2,000	\$1.70	\$3,400.00	\$1.75	\$3,500.00	\$1.75	\$3,500.00	\$1.65	\$3,300.00
43	Paint Curb Yellow (@ Median Nosing)	1515-4	LF	100	\$1.70	\$170.00	\$1.75	\$175.00	\$1.75	\$175.00	\$1.65	\$165.00
44	Install Type E Loop Detector	1520-3	EA	35	\$365.00	\$12,775.00	\$400.00	\$14,000.00	\$385.00	\$13,475.00	\$386.00	\$13,510.00
45	Install Type D Loop Detector	1520-3	EA	22	\$523.00	\$11,506.00	\$425.00	\$9,350.00	\$550.00	\$12,100.00	\$418.00	\$9,196.00
46	Remove And Replace Street Name Sign	1530-4	EA	21	\$235.00	\$4,935.00	\$250.00	\$5,250.00	\$248.00	\$5,208.00	\$238.00	\$4,998.00
47	Remove And Replace Advanced Street Name Sign	1530-5	EA	35	\$300.00	\$10,500.00	\$300.00	\$10,500.00	\$314.00	\$10,990.00	\$302.00	\$10,570.00
48	Install/Remove And Replace Street Sign Post	1530-4	EA	35	\$130.00	\$4,550.00	\$135.00	\$4,725.00	\$138.00	\$4,830.00	\$132.00	\$4,620.00
49	Install Sign R26K CA	1530-4	EA	5	\$195.00	\$975.00	\$200.00	\$1,000.00	\$204.00	\$1,020.00	\$196.00	\$980.00
50	Install Bike Lane Sign R81 CA	1530-4	EA	9	\$195.00	\$1,755.00	\$200.00	\$1,800.00	\$204.00	\$1,836.00	\$196.00	\$1,764.00
51	Install/Remove And Replace PCC Curb (A1-8)	1174-6	LF	5,400	\$27.00	\$145,800.00	\$42.50	\$229,500.00	\$40.00	\$216,000.00	\$50.00	\$270,000.00
52	Install Stamped Colored Concrete 4-Inch Thick	1901-1	SF	10,040	\$6.50	\$65,260.00	\$13.00	\$130,520.00	\$11.20	\$112,448.00	\$30.00	\$301,200.00
53	Relocate Exist Traffic Signal Pole And All Attachments Complete-In-Place	1520-3	LS	1	\$40,200.00	\$40,200.00	\$30,000.00	\$30,000.00	\$42,335.00	\$42,335.00	\$32,107.00	\$32,107.00
54	Install Green Bike Lane Pavement Marking - MMA	1515-4	SF	8,100	\$6.85	\$55,485.00	\$7.00	\$56,700.00	\$7.20	\$58,320.00	\$6.90	\$55,890.00
55	Install 3-Inch SCE Street Light Conduit	1904-4	LF	160	\$100.00	\$16,000.00	\$85.00	\$13,600.00	\$106.00	\$16,960.00	\$85.00	\$13,600.00
56	Install Edison Pullbox (13"X24"X24") – Per SCE UGS HP 205	1902-4	EA	2	\$1,250.00	\$2,500.00	\$500.00	\$1,000.00	\$1,320.00	\$2,640.00	\$2,000.00	\$4,000.00
57	Relocate Exist SCE Street Light Conduit	1902-4	LF	150	\$46.00	\$6,900.00	\$85.00	\$12,750.00	\$48.40	\$7,260.00	\$85.00	\$12,750.00
58	Install Object Marker Type K-1 (CA) @ Median Nosing	1530-4	EA	5	\$195.00	\$975.00	\$200.00	\$1,000.00	\$204.00		\$196.00	\$980.00
59	Adjust Pullbox To Finished Grade	1185-4	EA	10	\$425.00	\$4,250.00	\$850.00	\$8,500.00	\$162.00	\$1,620.00	\$500.00	\$5,000.00

	Furnish And Install Detectable Warning Surface		1	1							г – т	
60	Tiles	1903-4	SF	630	\$35.00	\$22,050.00	\$55.00	\$34,650.00	\$75.00	\$47,250.00	\$31.00	\$19,530.00
61	Remove existing And Install PCC Curb Ramp With Detectable Warning Surface Tiles Complete-In-Place	1174-6	SF	1,260	\$12.00	\$15,120.00	\$30.00	\$37,800.00	\$16.00	\$20,160.00	\$20.00	\$25,200.00
62	Furnish And Install R3-7 Sign, Right Lane Must Turn Right	1530-4	EA	7	\$210.00	\$1,470.00	\$225.00	\$1,575.00	\$220.00	\$1,540.00	\$212.00	\$1,484.00
63	Furnish And Install W1-1a Sign, Right Turn With 20 MPH Advisory Speed	1530-4	EA	4	\$210.00	\$840.00	\$225.00	\$900.00	\$220.00	\$880.00	\$212.00	\$848.00
64	Furnish And Install W4-2 (CA) Sign, Right Lane Ends	1530-4	EA	1	\$210.00	\$210.00	\$225.00	\$225.00	\$220.00	\$220.00	\$212.00	\$212.00
65	Furnish And Install W9-1 Sign, Right Lane Ends	1530-4	EA	2	\$210.00	\$420.00	\$225.00	\$450.00	\$220.00	\$440.00	\$212.00	\$424.00
		TOTAL AMOUNT SUBMITTED					\$2,937,770.00		\$3,185,749.00			\$3,533,620.00
		TOTAL AMOUNT VERIFIED		\$2,793,079.50		0 \$2,937,770.00		\$3,185,729.00		\$3,533,620.0		
		Subcontractors List			Traffic Loops Crac American Paveme Chrisp Co. Pavement Coating Caseland Surveyir Total Barricade Se	ent Systems	Cal Pro Engineering Chrisp Co. APS CL Survey MD Crack		American Pavement Cindy Trump, Inc. Austen Ent. California Profession Chrisp Co. Pavement Coatings C Benner and Carpente Total Barricade Serv	nal Engineering Co. er, Inc.	MD Crackfill Chrisp Company Case Survey EBS Utilities Kato Landscape Total Barricade Serve Manson & Son Enter American Pavement	prise
											Pavement Coatings PRSI CP Engineering	